RErELExR (BF)

FEI1EFEETERELFEROHESTEERS M FERLBERRS FERNPPRATER
TR2246A5H (1), 6A(H)
=) BEOHLAE ELE ?ﬁfﬁ
g iz 2 6 7
% g E & %] % & E B En| K 2 E]R D
il il =
14100m AR/TEBPEX 1] 1264 g ZE 1] 1299 | HE WAL |
FEILE (+1.0) FE bFE (+0.4) FE HHE
5
Ff Egh2 | 1185 B E2 11.90 1234 || RO EiE2 |
24100m ; +0.7) (+1.2) Lurg gggm
1143 11.74 pin 3
3%100m (+1.3) (+1.3) /\;@ﬁ
- 23.18 24.10 : 3
6 | #E200m ©0) 00 | Eefin
R 53.22 53.67 IENE]
e FIHAS | e 1 B
. 3 | 20354 ] EFIN 2.05.87 E &3 | 20714
6§ 3B800m LIt A R FE s 5 L5t 5 ES $ir |
14£1500m | BAJI[IF;A 1] 45181 FEHE F01 | 45348 . B &1 | 5.06.95 ¥AH 1E£1| 5.07.05 W I 1 | 5.08.49
5 IJ.IE\I iz K# iz 5 :Fﬁ FAFIFS = FE &R
#381500m R E 2 | 42009 ol F9A 3 [ 4.20.53 WEEZ3] 42320 | BAREE3] X 4.24.96 &5h 3 l 4.25.30 4 BN 3 | 4.25.48
- NTFHK EH s WmE K- 4 Eli_ i "\:
*E3000m  |— B% B3k 3 | 93087 | fEAK B 2 93569 ELE LY
6 9 RE KR
H#E110mH| | tE®3 [ 1516 | FHzw3 | 1607 | HEES T 1701 | B ] nmxs ______ r
#* =y = o%
W (+0.2) FE EE (+0.2) FEES (+0.2) (+1.2)
______________________________ Xi Eak J\FHREE 3 } *x
#hal EH 3 #|ABEER 3 BK KT 3 t=H Ak 3 : 3
6| #BE4x100mR | &L #i 3 44.89 AFF AR 3 4556 N&g #HE 3 46.24 | /MK FERER 3 | 46.46 46.61 JE EH 3 46.65 [R& #8450 3 46.68 PEf BT 3 46.78
BHEKX 3 iR k& 3 JILE BX 3 RE ZFE 3 RE #EN [z =X K] AR Hi 3
HEE RE 3 AHEHL 3 EE B GEE 3 ?E?K fin 3 TE 3
HEESH EE#W3| 175 #BAE3 | 170 1.65 | 165 i =
5 ——— 0% T s ;fi R frﬂz# Efi
- = Nk 3.50 BRAE st 3 350 | 3.10 M 3 3.00
et T B i
= [ IB®F KRl ] 545 [ | HE 0t 1] 495 453 453
14 ENR B E%E_:Eﬁ f,%gﬁﬁ
e GE XE 3] 658 SA E_EF 3| 626 553 552
6 %EE“‘EE}E :Fﬁ Elﬁ- —+0.1 :Fﬁ ﬂ-;ﬁa 1.2 +0.0 /\:F1't *Tii +1.4
SERHE Pl gth 2 [ 1247 BEE mfE3] 1059 9.77 ZEH3 9.76
” FE sl FE ol FX #HHYE S
A EEAR3 | 1989 FlE &al3 | 1917 1501 B A3 | 1162 = Ek2 | 1034 [ |
TE EBER WK X FTE FHERA FTE 5
6 PUELS 17.08 18.16 20.67 21.35 21.01 25.21
R 10.14 8.67 8.30 8.59 6.76 7.29
1.55 1.52 1.67 1.40 1.35 1.43
58.86 55.01 62.04 56.69 63.17 63.02
BHE oV = E Z B T4—ILR-BRER R : HF H R X REBEE #wARAEEF
5H 6H
Bzl x5 im ] EE R Bzl x5 im ] R R
9:30 D) 21.6°C IR 1.2m/s 73% 9:30 B 254°C B 11m/s 47%
10:00 D) 23.0°C TFE 1.5m/s 67% 10:00 B 26.2°C RIR 1.2m/s 49%
11:00 D) 21°C I 0m/s 6% 11:00 Bh 6.6°C BR 1.1m/s 45%
12:00 £ 45°C RILR 9m/s 0% 12:00 [EE0 7.3°C RILR 2.0m/s 43%
13:00 EN 47°C JEIEE 2m/s 6% 13:00 [EE0 6.3°C R 1.5m/s 49%
14:00 =Y 24.1°C R 11m/s 60% 14:00 =Y 26.0°C RER 2.9m/s 52%
15:00 Bh 23.9°C RILR 2.5m/s 51% 14:50 Bh 25.6°C Ed 1.5m/s 54%
15:50 B 22.7°C RER 1.6m/s 58%




#31EFRRDPLE L BREGETEAS RIFRL IR (ZF) TR TREIRRES TRRASTREREE
FRE22E6A58 (1), 68 (R)
BFEOHRLERE LIRS

g fr 2 3 4 5 6 7 8
# g &%Enaﬁ K & %] & & K & #| & & K & #| & &% KE & %] & & K & %] & & K & #| & & K & #| & &%
B i B BB B i i B
14£100m E=Eh EH% 1 13.46 EE2EHX 1 13.68 MHE HHE 1 13.70 £ e 1 13.79 IR BT 13.93 t&@K ES 1 13.94 RN 13.98 g & 1 14.04
FEEFE (+0.8) TE B (+2.0) & ZR (+20) | FE BEARM | (+2.0) WK X8 (+0.4) | FFE FEKRM | (20) [ FFE FEXH | (+2.0 2&;& (+2.0)
= H R&= 1] 1404
AT KFHE | (+1.9)
2%100m | £FBEE2 | 1304 | HF EE2 | 1310 EF B2 1328 | \AEE Bk 2 | 1329 | AMEM2 | 1333 | FEREF2 | 1336 | feMBARE 2 | 1337 WH B 2 13.40
FE RS (1.7 R4 ERmE LD VFR AFRIEE (2.9 FE &R (+2.9) WH WE 1D | NFRESE | 1.1 WK =& (+2.9) FEITE (+2.9)
34£100m SHEE3 12.96 A WYL3 | 13.03 Ht £%E3 13.25 R $kF 3 13.29 A x&3 13.44 KO FELE3 | 1350 EFExR3 13.52 AR 343 1353
4 XR (+1.0) | FF B5RAM | (+1.0) W X8 (+1.0) FE EE (+1.0) | FF BRAM | +1.1) FE RS (+1.0) FEILE (+1.9) R4 XRE (+2.0)
#3/200m | SHEXR3 | 2647 | FEEMFI | 2706 | EEIUH3 | 2737 | &FHEEF2 | 2741 Bl EfE 3 | 2756 FH Z%3 | 2757 | EnlgE2 | 2150 | BAOYL3 | 2777
- 4 XR (-1.8) Fx EE (-1.8) FEHEER (+0.2) FE RS (-1.8) FX KM (-1.8) W X8 (+1.00 \FRINFRLE +1.8) [ ¥ FHokAH | (-1.8)
H#5HB00m =REESR 2.22.94 THEE3 2.23.04 BARAFHEI | 22337 RHEH BE%=3 | 22665 AF FK 2 22698 | e =EE 3 | 22780 ZEk ig 2 | 2.28.04 =HABE3 | 22002
- J\NFHK XFH W FE KA R4 xEm R4 XRm FE RS NFRHER X XIRm@
#581500m YA BE 3 | 45007 A F£= 3 | 452.60 REEE3][ 45477 R BEfE3] 45543 | R EFH 3] 457.66 A K=3] 45973 B E%£ 2] 50318 | F3 = 3] 503.33
- J\FH XFH T AHE E4 XIEm NFRHER FE RS Wz K48 FEWrRE 4 KR
6 | @1 OOmH| FEBAER3 | 1584 EDEY 3 16.38 FEH Ex2 | 1638 A mF2 | 1652 Ll &% 3 16.53 ZHEES 16.87 WA K2 | 1693 FTR¥FE2 | 1696
- FE FHERE | +0.7) FE RS (+0.3) & ER (+0.7) WK 152 (+0.3) | FIE BaRAM | (+0.7) TE Bk (+0.7) Fx HiZ (+0.3) R4 BF (+0.7)
EES AL N BiRAH EES) INTFHRE ER REm
A B8 2 By B 2 [ B Y 3 Wl k&FTH 2 =R BEH 3 Ik KR 3 BiE KE 1
6| #@B4x100mR | kO 4%k 3| 5224 HHEX 3 52.46 Bl i 3 52.87 AR & 3 53.07 HIL B4t 2 53.17 ER #E 2 532 | MW BAREF 3| 533 A Ty 2 53.51
BLET 3 AHHE 3 AHFP 3 Wiy EE 3 HE X 2 kBh Y 2 IWF 505 3 AR BH 3
EFBEE 2 FEIB%E 3 EHEEE 2 ne x& 3 %)l Ex 3 AZFED 3 RT3 1EH BHAE 2
HEESH FHAEp #an 2] 148 N EE3] 148 TR ERI] 145 SFELE BXHR 3] 1.40 AH MM 3 [ 1.40 L EERF 3 140 BT MEF 2] 1.40 HEES 1.35
TIEEE FE ILE Fx HiF ANTFR =H TE THER ANFR A\FRIE JANTFH XFH J\NFHK XF1H FTE RS
1 E ik TUE ERE 1] 454 K BB 1] 420 BERMET] 402 BAER 1] 402 £ b1 ] 401 B IEO=1] 389 Am 1 3.86 EE =1 386
= TE 4R +1.4 T A#E +10 | FEEBEE | +07 Wi 2 +0.9 FEEERME | +08 4 XIEmE +2.1 TX FHER | +09 T R#H +0.5
B EIER Bl ZH2| 498 IWF 505 3] 484 Sl w3 | 477 & BE3 4.75 N3] 4T AR &3] 468 £k bxE 2] 459 AR EK3 | 457
- = E PN +1.1 FE EE -0.2 T K# 0.5 FEZRAM | +1.8 | /\FHK X#H +1.3 | FEZRAM | —+06 | FIE FHEE | +05 FTEHAYRE +1.4
SRR MHEEx 3| 1087 WA FE 2| 960 SEXEI] 936 EAMES ] 9.16 EAFE3] 912 i BB 2 8.85 BRE AT 3 863 #EO BkF 3 | 851
- > FE &R Fx HiF F= HiF FE FEXAM NFR 52F T T3 FE FEXM TE THER
HEE B/Z&3 ] 2075 KE #E3 [ 1896 Il BE3 ] 1844 ED #H3 ] 1821 Za EM3 ] 1584 £l %052 | 1523 =5 EZ3] 1512 BIE 32 1504
£ BF TE THER 4 KR FTE 55 R4 XRE FTE BRAM FE FTHER FTE R85
6 OB 16.76 17.77 18.19 18.49 17.69 19.26 19.34 19.29
1.42 1.42 1.24 1.42 1.10 1.30 1.21 1.21
7.76 753 8.35 8.12 6.22 6.43 8.18 6.14
29.29 30.02 28.36 30.60 28.98 30.48 30.90 29.20
EE Z5H2 | 230 R EIE2 | 2.10 SR EAF2 190 [ [ I I I
AT EES B TE BRAH TE BRAH EEEE I

FHE rovy: =2 ZH A=K R =:RES ECERELE /A EEF




